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Section A (30 marksj)
Choose the correct answer for each question and shade its number-on the OAS

provided.

1 Which one of the following things can move by itself ?

2 Which of the following is true of all living things?

A They give birth.

B They respond to changes.
C They can move by themselves.
(1) Aonly

(2) AandcC only
(3) BandC only
(4) Al of the above

CcT A-1
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CcT

Five seeds were put on a piece of wet cotton wool. A few days later, young
plants appeared. Three other seeds were put on a piece of dry cotton wool.

However, no yo'ung plants appeared even afler 2 weeks. This stiows that the

seeds
(1) need air {0 survive
(2} live on cotton wool

(3) make their own food

(4} need water to grow into young plants

The classification diagram shows two different types of things.

[ Things j

l

! 1
Group X Group Z
Plate Plant
Lorry Lion

Tyre Cricket

Which one of the following belongs to Group 77

(1) Nail
(2) Cactus
(3) Feather

(4) Teddy Bear

A-2
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Plants which have _— stems rmay grow on other trees io reach out

for 'sunlighL
(1) thin

(2) thick
(3) weak

4) strong

Which one of the following statements about plzﬁ_{t's is true?
(1) All non-flowering plants are not green.

(2) Al owering plants have colourfuf flowers.

(3) Flowenng plants have more leaves than non-flowering plants.

{(4) . Some ﬂowenng plants flower only during certain times of the year,

Look at the two groups of flowers - How are they classified?

— —
Group A Group B
Ixora Water lily
Frangipani Hibiscus
Jasmine Rose

They are classified according to whether they

(1)  smelinice or unpleasant
(2}  grow singly orin clusters
(3)  are brightly coloured or gyl

(4)  can be used for making tea or not
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cT

Shrubs are grown as hedges along the roadside because they have many

(1) 100ts

(2} seeds
{3} trunks
(4} leaves

Which one of the following plants can be putin the same group as the pitcher

plant?
(1) Moss
(2) Rafilesia - )

(3}  Venus fiytrap
(4)  Bird's nest fern

Alice drew the poster below for her class Science Comer.

Which of the following headings will be most suiiable for her poster?

(1) Plants

(2} Animals

(3) Living things

(4)  Non-living things

A-4
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Tom conducted the experiment below.

ventilated cover

sealed cover

1

He was trying to find out if the mouse needs _ to survive.

(1) air
(2) light
(3) food
(4) . water

A robotic toy cat can run and meow when its head is patied. However, it wilf
definitely not be abie to

A grow

B move
C respond
D

reproduce

(1) AandC
(2) AandD
(3) BandC
(4) BandD
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14

CcT

tn whal way is an orchid similar to a terrapin?

(1) It reproduces.

-(2)(" ” i‘{ rmakés its own food.

(3) It can live both on tand and in waler.
(4) it feeds on smaller planis and animals.

The diagram shows Tommy’s pet in January and when it was full grown

in December. He took its weight both in January and December.

Pet in January Pet in December

Which one of the following shows the most likely weights of Tommy’s pet?

Wéight of pét (g'ré.mSj‘
In January In December i
(1 2200 2200
2) 2200 4200
(3) 3200 2200
4@ 4200 4200
A-6
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cTr

Plant P

The statements below Compare the differences between Plant P and Plant Q.

Which of the statements is correct?

Plant Q

Piant Q

e

It is short.

lt does not have fruits

It cannot reproduce.

B Plant P
(m | Itis tall.
(2) - Whas fruits.
(3) It can reproduce.
(4) It has branches.
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Section B (20 marks}

Write your answers for questions 16 to 23 in this booklel. Fiij in the blanks with the

correct answers.

16 Marcus saw the following things while he was ai the park.

rr bee . grass

! chaw helicopter

(@) Help Marcus to classify these things according to the 2 groups below.

Living Things ' Non-living Things
_.——__‘_h‘__———___‘_—_.—h——___'—-.——“_—"_—*t—*_;_
_

(b) How eise can he classify these four things?

17 Compare the two living things below.

Cow. Orchid

(8) State oné way in which they are similar.

(2]

(1]

f1]

(b) In what way are they different? Do not mention colour ef size.

2]

Ccr B-1 Sub-total-
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18 Three lypes of piants were placed into 3 identical contais wers lilled with 200m! of
water. A layer of 01l was poured into each container to preveni the water from
evaporaling inlo the air. One of them is a plastic plant.

Container A Container B Container C

The volume of water in each container was recorded on the 71" day in the table
below.

Container Volume of water (inl)
Day 1 Day 7
A 200 180
B 200 175
C 200 200

(a)  Which of the following containers {A, Bor C) contained a plastic
plant? o [1]

Container

(b) Explain why there was less water in Containers A and B on Day 77

i

()  From this experiment, we can 3éfi that a fiving thing needs-

to survive, [1}

cT B-2 Sub-total:
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19 Bala caughi a snail and placed it together wilth some leaves,

in a piastic bag. He
then sealed it so that the snail could not escape.

L

o

(a) What should Bala do to ensure that the snail stays afive?

{1}

(b) Why is (a) important? {1]

20 The table shows some things classified according to their characleristics.

Group A Group B
Bat 7 Cupboard
Crow Jug

(@) In which group would you pyt ‘motarcycle’?

[1]

{b) Give a reason for your answer in (a}.

[}

cT B-3 Sub-total:

2008 — P3 — Science — CAl — Anglo Chinese



21 Leonard found four picture cards wilh spots as shown below.

" s — —————

4 A o9 e ® | A A
A ® e e A A
| S

He can classify the cards into 2 groups. In the space below, draw 2 cards in each
group. . - (2]

Group A Group B

cr | | B-4 Sub-total:
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22 The diagram shows leaves {aken from different tre
questions (a} and (b)

T

es. Observe them and answer

Leaf A

l.eaf B

(a) Both of the leaves have a leaf stalk and net vein patlern-  State another

similarity between both leaves.

(1

(b) In the box below, draw an oval-sh

aped leaf that has an edge that is similar to
lLeaf B.

[2]

—

B-5 Sub-total: ! )
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23 The diagram shows a flowchart which can be used to group some planis.

START

!

Is it a flowering
plant?

-<
D
0

Yes Does it grow in ? Sox D
water?

No No

-———-n-lu.. o
y

Y

Does it grow an Yes Box B Box C
rocks?

No

r

Box A

Refer to the flowchart and group the following plants into the correct boxes.

— ra
" 7 - .,
O#:\id %s Wa}f{‘Lﬂy Bird’s West Fermn

Wiite the correct names of the plants in the table. 2]

Box A

Box B

Box C

Box D

End of Paper
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EXAM rPaPER 2008

SCHOOL : ACS PRIMARY SCHOOL
SUBJECT : PRIMARY 3 SCIENCE
TERM : CA

1 Q1| Q2

Q12

3

Q11

Q14
2

18)a)C

b)Thé drchi'd is a plant while the COW

roots absorbed the water from the contamers

c)Water.

b)There was less water in containers A and B because thelr

19)a)He should make holes in the plastic bag so that it will have

air.

b)It is important because the snail need air.

20)a)Group B.

b)It is because all the things in group B are non-living things
and motorcycdle is a non-living thire.

21)Group A:

A

A

A

Group B:

Page 1 to 2
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22)a)Both leaves are hea

Orchid -
: Water Lily;
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